0248 =0ila eI ADE

A £ 0l & AF & S

201t

Al A

A ACIERMIL
M HZYRAZH(AOERND)
el JI=2 3 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
A0FER0 2t 14,837,686 16,104,067 1,266,381
= 9,850,120
Jl 125,789
= 957,678
Al 3,904,099
HY 2 ZHI(ADIEH M) 32,936 32,264 672
J1I=288l 32,936 32,264 672
JI=23Hl 32,936 32,264 672
201 Ler23 | 17,890 17,218 672
01 At2t2ltl 16,577 15,905 672
OJla2=8H 84 900,000& =22 1,800
OJIZAeE 3] 30,0002 * 12& 360
Oge=a A 2 20,0002 +55 100
Ox2d =23 7l 50,0002 122 600
OAE=4H| 50,000 * 122 600
Otlz2+=z 10,0002 x5+ 123 600
O=HIEXAIY S22 & LR A
x 600, 0002 600
OEET 11,917
—ZEYULEX 3| 4,525,0002! 4,52
—AZEAR S|
8,000 x5 »7 L« 12 3,360
—ANE20AE =&l
8,002 X372 122 2,016
~DHASE A 22|
8,000 x3&»x7Lx 123 2,016
2 s5=4g4l 1,313 1,313 0
ORE=YS 1,313
—S 2,1808+30S5+122 785
—gerAH 4002 +110S+122 528
202 04| 10,846 10,846
01 =LHO LI 10,846 10,846
PR=L SS0H 9,646,000& 9,646
OAZEXNAZAIGZ=E FUHHEI(SRA)
100,000 x 121 1,200
203 HR=4AH] 3,000 3,000
MU A2 LRSI 3,000 3,000
ORANEgg =AY
250,000 x 104 2=+ 123 3,000
204 APt AH 1,200 1,200
01 MG HI A 1,200 1,200
Oz 100,003 x1& =123 1,200
sEILHYS 12,913,858 13,273,858 A.360,000
= 9,850,120




: ADIE R0
e R

D SHASHEXE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 858,403
Al 2,205,335
SHAESMHERNE 11,262,791 11,939,370 686,579
= 9,848,120
== 385,860
Al 1,018,811
28 SY9XEs 9,759,000 10,913,000 A1,154,000
= 9,759,000
301 EtE NS 9,759,000 10,913,000 21,154,000
= 9,759,000
14 JIEt2 83 9,759,000 10,913,000 21,154,000
OJI283AXEHM XIR(3,330na)
9,759,000,000& 9,759,000
= 9,759,000
Jl2d SUXZHM HEZHIKA 55,120 54,370 750
= 55,120
101 ©1AH| 24,594 20,973 3,621
= 24,594
MU IIRIMZZENSES 24,594 20,973 3,621
OJIZ2gsAA=N =243 12|
24,594,000 24,594
= 24,594
201 Ler=23| 26,206 29,077 2,871
= 26,206
01 AtR2t2lt] 25,206 29,077 23,871
OJIZESAA =N AtF22l]
25,206,000 25,206
= 25,206
2 S22l 1,000 0 1,000
OJIZ2gS9A=M 2BRs
1,000,000 1,000
= 1,000
202 04| 4,320 4,320 0
= 4,320
01 =LHNHI 4,320 4,320 0
OJIE2gsAA=HM 0|
20,0002 x2E * 122 +03] 4,320
= 4,320
HHENENES 34,000 9,000 25,000
= 34,000
301 EtE NS 34,000 9,000 25,000
= 34,000
14 0Bt 2a3 34,000 9,000 25,000
OXHEAN=SMNES A& 500,000& *68ha 34,000




A ACIERMIL
3 sgIy=Ist
el SIASHEXR (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| 2 3,000
SN SSAHE 1,023,790 963,000 60,790
== 4,979
Al 1,018,811
301 2eEN= 911,290 844,500 66,790
< 4,979
Al 906,311
14 JIEt2 8= 911,290 844,500 66,790
Ogs& |l X& 65,0002 7662 49,790
= 4,979
Al 44,811
OXEE stz X (1108 %)
320,000,000 320,000
Ol X2 X2 (2583 & A
517,000,000 517,000
OH |28 && XI&(8,840%)
24,500,000& 24,500
402 2I2FX=01 & 112,500 112,500
01 QI XHE AL E R (KM TH) 112,500 112,500
Ol =2t sAHM X
112,500,000 112,500
B Zgetd &l X& 380,881 0 380,881
== 380,881
301 EtE NS 380,881 0 380,881
== 380,881
14 IIEt2d3 380,881 0 380,881
OBl ZEOHE T4=Y| X/ (83%ha)
380,881,000& 380,881
= 380,881
AEAE daDIE 25 1,661,067 1,334,488 326,579
= 2,000
& 472,543
Al 1,186,524
SAIIAS A 668,325 437,350 230,975
= 2,000
s 193,629
Al 472,6%
201 et 3| 1,600 1,600
01 At22t2l] 1,600 1,600
O=J1Hetes & DAS RUXA A&
g iz 800,000 *2CH* 1 1,600
301 LEtE N = 11,715 9,300 2,415
= 2,839
Al 8.876




M A

MR Sel2meiats
Chol: AlRtRE MAD|EH B (Shol: % 2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
11 dALEEIXIZE S 1,200 1,800 A600
SIAHLS ¥ DASKRUR A HSHEA
A olHI=24f 20,0003 +60 1,200
14 0Bt 2a=S 10,515 7,500 3,015
Os&gs H2 it N&
15,0002 +701H 10,515
== 2,839
Al 7,676
402 QIF X201 & 655,010 426,450 228,560
= 2,000
== 190,790
Al 462,220
02 QI EASEZ(0IETHR) 655,010 426,450 228,560
OUsALEsIIA 2N
2,500,000 «358CH*50% 447,500
= 134,250
Al 313,250
OoolsAal e &gl XA
89,600,000 89,600
=S 31,400
Al 58,200
sSEIH SHEX 2=
100,000 +50CH 5,000
= 2,000
s 900
Al 2,100
Og=sn X 45,0003 x70Z=*40% 1,260
S 315
Al 945
Oudalsted UsH 2528 A&
5,500, 0002 x29CH*7(f% 111,650
=S 23,925
Al 87,725
MRS AR 33,220 40,020 26,800
< 4,558
Al 28,662
201 Ler23 | 5,000 8,000 23,000
01 At2teltl 5,000 8,000 /3,000
Osxll=+ 22 5,000,000& 5,000
301 EtE N = 28,220 32,020 /3,800
= 4,558
Al 23,662
4Bt 2as 28,220 32,020 23,800
O= EH&E MHl XA 2,000,000 *10ha 20,000




SM: ADIER0D
Hu: sl el

e ZE‘:”E*; HaDer 2= EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 4,000
Al 16,000
OFcl M=t datdels A
3,00081%1,5000t0} 4,500
OstR=AM2 P3 (625
3,720,000& 3,720
< 558
Al 3,162
sHEM2E X 869,522 691,118 178,404
= 260,856
Al 608,666
301 EtE N = 869,522 691,118 178,404
= 260,856
Al 608,666
14 JIEt2a3 869,522 691,118 178,404
s&2 MWaHEE XIR(1,400na)
655,594,000 655,594
== 196,678
Al 458,916
O=gol orMEE X2 (4,740%)
178,028,000& 178,028
= 53,408
Al 124,620
OsI1H SEEE XI&(3000H)
35,900,000& 35,900
== 10,770
Al 25,130
AEAESIEE M XA 45,000 45,000 0
= 13,500
Al 31,500
402 2I2F X201 & 45,000 45,000 0
= 13,500
Al 31,500
02 QI XHZ AL E R (01X THE) 45,000 45,000 0
OsdE it 22X (3E)
90,000, 000& #50% 45,000
== 13,500
Al 31,500
=& 58 UM € HlE X X 45,000 45,000 0
301 EtE NS 45,000 45,000
14 IIEt2 8= 45,000 45,000
Oz E2 9N 2 HIE X XY (833ha)
45,000,000& 45,000
HUSHUSFY 1,582,432 2,511,485 A929,053
7l 125,789
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=aak

ADIERA0 D}
20| SHHA S A

AL &S =4

SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2

= 99,275
Al 1,357,368

AMERNAYE T4 1,463,432 2,350,685 A887,253
| 125,789
= 82,775
Al 1,254,868

AMEAC SNSRI 2 (LEHAUAIE) 165,000 121,695 43,305
| 75,000
= 9,000
Al 81,000

402 SI2ER=0I A 165,000 121,695 43,305
| 75,000
& 9,000
Al 81,000

02 QIZEXH2 A 2 (01 TH &) 165,000 121,695 43,305

OAIE 20 SCHSIAIS (LBHI0IAIA)

300, 000,000 *55% 165,000
| 75,000
& 9,000
Al 81,000

=g 0UXI0IZ 2838 AtY 100,736 100,736 0
| 45,789
& 5,495
Al 49,452

402 SIZER=0IH 100,736 100,736 0
J| 45,789
T 5,495
Al 49,452

02 QIR AL B X (01 & THEA) 100,736 100,736 0

O=g 0iUXIoE S83t At

183, 156, 000& *55% 100,736
J| 45,789
= 5,49
Al 49,452

ADIEE ICTES=EEAALY 11,000 11,000 0
| 5,000
= 1,800
Al 4,200

402 QI2ERH=01 N 11,000 11,000 0
| 5,000
= 1,800
Al 4,200

02 QIZERH2 A 22 (0| & &) 11,000 11,000 0
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2A0HE20fl 2

M AGSEAIRA
SRl A2 =4 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OADIEY ICTESSE &AL
20,000, 000& *55% 11,000
Jl 5,000
[ 1,800
Al 4,200
HANSEZS AZet PEA(HEAIY) 157,680 137,380 20,300
= 45,000
Al 112,680
202 0o4dl 7,680 7,680
01 =LHNHI 7,680 7,680
ONERHYR =7 201
7,680,000 7,680
402 2I2FX=201H 150,000 129,700 20,300
[ 45,000
Al 105,000
02 QI X2 AL EE(OIHTHE) 180,000 129,700 20,300
OE4s ANSBIS MDY 25
300,000, 000& *50% 150,000
= 45,000
Al 105,000
AL AXEH B2H A2 A 20,516 22,094 A1,578
s 5,230
Al 15,286
307 212+01& 20,516 22,004 A1,578
[ 5,230
Al 15,286
02 2B A HE L 20,516 22,004 A1,578
Odda= AxEl 32M N
34,840,000 *50% 17,420
= 5,230
Al 12,190
OAldotRA A5 SSAIE
5,160,000 *60% 3,096
AE20 datH] 22 XA 7,500 7,500 0
== 2,250
Al 5,250
402 QI+ X201 & 7,500 7,500 0
= 2,250
Al 5,250
02 QIZHNHE AL E X (01X THE) 7,500 7,500 0
OAIE 20l datdl 228 XI2A
15,000, 0002 *50% 7,500
= 2,250
Al 5,250




A ADER Dt
M ST SH
SRl A2 =4 (SH9 H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
MEtA =HEHH(HI0|2-Xt) XA 56,000 72,280 A 16,280
& 14,000
Al 42,000
307 212+01™ 56,000 72,280 216,280
& 14,000
Al 42,000
02 QIZHEAAHE X 56,000 72,280 A 16,280
OMEA =2 243 BH0I2-Xt) XA
140,000,000 *40% 56,000
= 14,000
Al 42,000
AAESIRA S|4 TIsHIE XIJRAAS 320,000 200,000 120,000
307 212+01 A 320,000 200,000 120,000
02 QIRHHAAIHE B X 320,000 200,000 120,000
OAldoteA ED1Y HIEHIE NJAAY
320,000,000 320,000
2= SEEY 550,000 380,000 170,000
307 gI2Hol ™ 140,000 120,000 20,000
02 QIZHAAAIHE X 140,000 120,000 20,000
Oose SEIfL(IF) XA
140,000,000& 140,000
402 QI2EXH=0I N 410,000 260,000 150,000
01 QIZEXHEAFE B2 (RERITHE ) 410,000 260,000 150,000
ONg=s 54 SFotA HE+ K&
200,000, 000& *50% 100,000
O&d=s 54 AMdoteA 4= K&
200,000, 000& *50% 100,000
OU=H A8GIRALEX XA
120,000,000 *50% 60,000
OAIE& =& HEAH(2Le) X
150,000, 000& 150,000
sEsttE SR X2 45,000 45,000 0
307 QI2Hol 45,000 45,000 0
02 QItBAAIH E X 45,000 45,000
Oxs=tt2 SEU NJA Y
45,000,000& 45,000
=Y 0|8 =& M3 M KI2AS 30,000 30,000 0
307 QIZ2t01 A 30,000 30,000 0
02 QIZHBAAIEER 30,000 30,000
OANEIMF =3 = XA
30,000,000 30,000
=i A 119,000 160,800 A41,800
& 16,500
Al 102,500
b= A B SHE ALY 48,000 46,400 1,600
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A ADER Dt
M AN FA =4
o Z20A IIKRABHE 4 (EEEE))
2 - IE
SA - BE - G9I(3H) - NIRAY - BES Ol ko e HlRE2
13 I 2 S0IHeHE & XS AL 5,000 0 5,000
Olfals:e 210 s 5,000
—CHEIRI= AHIX 412 BHE o 88
] 5,000,000& 5,000
Ha3E d=8 A& 20,000 20,000
402 SI2HRH=0I M 20,000 20,000
01 QIZEXH2 AN 2 2 (REAITH &) 20,000 20,000
OXON MArZ DHAM 22101 X
2,000,000 *20CH*50% 20,000




